Exam Ninja Publications Errata

Unfortunately, as with all books, mistakes can make their way to the printers.

Sometimes it’s due to not enough proofreading and occasionally it’s because of too many proof-
readers!

All we as a publisher can do is ask that if you find a mistake in one of our publications, please let us
know via our website.

Below you will find a list of all known mistakes in our publications. These will be removed in their
next printing cycle:
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e Maths Paper 2 (Reasoning) Set A - Page 10 — Question 17
o The answer section reads [p = ] when it should be blank as the question already
guotes p and is asking for a calculation.
e Answer & Mark Schemes Booklet — one printing process (in late 2023) mistakenly printed
the wrong images on pages 17, 18, 19.
o Page 17, Question 4. This is the correct image:
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Award 2 marks if all four shapes have been correctly matched.
Incorrect answer? Award 1 mark if two shapes have been
correctly matched.

Do not award a mark for any shape that’s been matched to

more than one fraction.

o Page 18, Question 14. This is the correct image:
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The four hexagons must be a similar shape to the example

below to have a perimeter of 28cm.




o Page 19, Question 16. This is the correct image:
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Maths Paper 2 (Reasoning) Set C - Page 5 — Question 8
o The selection of numbers is incorrect.
o Instead of ‘150’ it should read ‘50’.

Maths Paper 2 (Reasoning) Set B — Page 13 — Question 18
o The numbers that children are expected to place into the diagram are incorrect in
the question booklet.
o The numbers should read:
4 12 24 18 36 40 48

Answers & Mark Schemes - Maths Paper 1 (Arithmetic) Set B— Page 13 — Question 29.
o The answer is incorrect and should instead read as below:
o 351,552

Answers & Mark Schemes - Maths Paper 2 (Reasoning) Set C — Page 23 — Question 8.
o The answer is incorrect and should instead read as below:
o 50,25

Answers & Mark Schemes - SPaG Paper 1 (Questions) Set B — Page 64 — Question 41.
o The answers have been incorrectly reversed and should be the opposite way around

as below:
Sentence Phrase Clause
Sally bought some new ballet shoes. \/
He lost his wallet on the train. \/
The paper plane floated down from the window. \/




Fluffy likes to sleep on Janet’s lap. \/
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e Page 49 — Question 17
o The first number (1) should not appear in the sequence.
e Page 57 —Question 17
o The question should read: The area of Figure A is the same as the area of a rectangle
with a length of 13cm.
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